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#anE (plot)

> x <- ¢(-5:5) # xEh
>y <-c(25,16,9,4,1,0,1, 4,9, 16, 25) # v

> plot(x, y, type="‘p’, xlab="x', ylab="y")

y=x"2

> X <- seq(-5, b, length=100)
#x%Z-5h b ETI0DRE DHINEER |
>y <- X2 #ya B TIEE

> plot(x, y, type="1', xlab="x', ylab='y', main="y=x"2")




=" = 7 (barplot)

>y <- c(182,152,145,175,153,172,184)

$ 7 NV — X

> barplot(y,ylim=c(0,200),
xlab="IHEHE "',
ylab= ' ﬁ'fﬁ ' ’
main='HE&"
)

> barplot(y,xlim=c(0,200),
xlab='§ﬂﬁ' ’
ylab='IERH "',
main="HE"',

beside=TRUE,6 horiz=TRUE, col="'red"®
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45" Z 7 (pie)

> vecl <- c(42.2, 32.3, 13.4, 12.1)
$ AR pAIFT —H

> names (vecl) <- c¢('A’,'B’,'C’,'D’)
# N~ X OB T4

> vecl.col <-c('red', 'green',6 'blue', 'white')

BT —X

> pie(vecl,radius=1,col=vecl.col,main="5#}fi")



b X b 77 L(hist)

> nrd = rnorm(1000,0,1)
# N7 pVAlT— 4
# SO, IEVERZEL Td S IERL AN Z2 729 ELE 1 00 01 2 A2 Rk

>hist (nrd,breaks=25,
xlab="normalrandom",
ylab="frequency",
main="normaldistibutionN(0,1)",
col="orange"“

)
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O NT R (boxplot)

FOUH

> vec2 <- c¢(79,90,80,81,83,60,76,66,91,49,87)
/A VI

> range (vec2) #  HupH
[1] 49 91
> quantile (vec2) # WU AEER

0% 25% 50% 75% 100%
49 71 80 85 91

> IQR(vec2) # DU L PH
[1] 14

> boxplot (vec2,horizontal=TRUE main='FOMFX")
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